
Analiza odgovora

Ljetni rok 2011./2012. - Likovna umjetnosti, učenici gimnazija

Pitanje Odgovori Status odgovora Broj kandidata Postotak Q1 % Q2 % Q3 % Q4 %

1 - Neodgovoreno 8 1,31 0 63 0 38

1 A Netočan odgovor 179 29,2 22 28 26 23

1 B Netočan odgovor 72 11,75 32 31 22 15

1 C Netočan odgovor 179 29,2 35 26 23 16

1 D Točan odgovor 175 28,55 17 16 28 39

2 A Netočan odgovor 33 5,38 52 27 18 3

2 B Netočan odgovor 40 6,53 50 25 13 13

2 C Točan odgovor 468 76,35 20 24 26 30

2 D Netočan odgovor 72 11,75 31 31 29 10

3 A Netočan odgovor 28 4,57 18 50 29 4

3 B Točan odgovor 528 86,13 24 23 25 28

3 B;D Neispravan odgovor 1 0,16 100 0 0 0

3 C Netočan odgovor 31 5,06 32 35 23 10

3 D Netočan odgovor 25 4,08 36 24 32 8

4 A Netočan odgovor 10 1,63 60 20 10 10

4 B Točan odgovor 540 88,09 21 25 26 28

4 C Netočan odgovor 46 7,5 54 26 17 2

4 D Netočan odgovor 17 2,77 53 35 12 0

5 - Neodgovoreno 1 0,16 100 0 0 0

5 A Netočan odgovor 21 3,43 43 24 29 5

5 B Netočan odgovor 4 0,65 75 0 25 0

5 C Netočan odgovor 233 38,01 29 26 26 19

5 C;D Neispravan odgovor 1 0,16 100 0 0 0

5 D Točan odgovor 353 57,59 20 25 24 31

6 A Djelomično točan odgovor 4 0,65 75 0 25 0

6 A;B Djelomično točan odgovor 28 4,57 21 29 32 18

6 A;C Točan odgovor 367 59,87 19 25 27 29

6 A;D Djelomično točan odgovor 20 3,26 15 40 20 25

6 B Netočan odgovor 3 0,49 67 0 33 0

6 B;C Djelomično točan odgovor 118 19,25 32 21 22 25

6 B;D Netočan odgovor 6 0,98 50 33 0 17

6 C Djelomično točan odgovor 7 1,14 71 14 14 0

6 C;D Djelomično točan odgovor 60 9,79 40 32 20 8

7 A Netočan odgovor 1 0,16 100 0 0 0

7 A;B Djelomično točan odgovor 10 1,63 50 30 10 10

7 A;C Djelomično točan odgovor 23 3,75 30 9 30 30

7 A;D Netočan odgovor 3 0,49 100 0 0 0

7 B Djelomično točan odgovor 6 0,98 83 0 17 0

7 B;C Točan odgovor 466 76,02 20 26 26 28

7 B;D Djelomično točan odgovor 51 8,32 47 20 22 12

7 C Djelomično točan odgovor 7 1,14 57 29 14 0

7 C;D Djelomično točan odgovor 46 7,5 22 33 28 17

8 A Djelomično točan odgovor 6 0,98 83 0 17 0

8 A;B Točan odgovor 282 46 19 17 30 33

8 A;C Djelomično točan odgovor 12 1,96 33 42 8 17

8 A;D Djelomično točan odgovor 269 43,88 27 31 22 20

8 B Djelomično točan odgovor 2 0,33 100 0 0 0

8 B;C Djelomično točan odgovor 11 1,79 36 36 18 9

8 B;D Djelomično točan odgovor 6 0,98 33 17 50 0

8 C Netočan odgovor 1 0,16 100 0 0 0

8 C;D Netočan odgovor 22 3,59 45 45 5 5

8 D Netočan odgovor 2 0,33 50 50 0 0



9 - Neodgovoreno 1 0,16 0 100 0 0

9 A Netočan odgovor 2 0,33 50 50 0 0

9 A;B Netočan odgovor 39 6,36 69 21 8 3

9 A;C Djelomično točan odgovor 53 8,65 55 25 17 4

9 A;D Djelomično točan odgovor 66 10,77 48 35 11 6

9 B Netočan odgovor 1 0,16 100 0 0 0

9 B;C Djelomično točan odgovor 19 3,1 32 37 21 11

9 B;D Djelomično točan odgovor 66 10,77 20 33 24 23

9 C Djelomično točan odgovor 2 0,33 100 0 0 0

9 C;D Točan odgovor 359 58,56 11 22 31 36

9 D Djelomično točan odgovor 5 0,82 80 0 20 0

10 - Neodgovoreno 2 0,33 0 0 50 50

10 A Djelomično točan odgovor 10 1,63 70 10 20 0

10 A;B Točan odgovor 469 76,51 22 23 26 29

10 A;C Djelomično točan odgovor 30 4,89 27 43 23 7

10 A;D Djelomično točan odgovor 15 2,45 33 13 27 27

10 B;C Djelomično točan odgovor 72 11,75 31 40 17 13

10 B;D Djelomično točan odgovor 5 0,82 20 20 60 0

10 C Netočan odgovor 1 0,16 100 0 0 0

10 C;D Netočan odgovor 8 1,31 75 13 0 13

10 D Netočan odgovor 1 0,16 100 0 0 0

11.1 A Netočan odgovor 127 20,72 37 34 18 11

11.1 B Netočan odgovor 2 0,33 50 0 50 0

11.1 C Točan odgovor 398 64,93 16 23 28 33

11.1 D Netočan odgovor 30 4,89 83 17 0 0

11.1 E Netočan odgovor 21 3,43 48 24 19 10

11.1 F Netočan odgovor 35 5,71 20 23 37 20

11.2 - Neodgovoreno 1 0,16 100 0 0 0

11.2 A Točan odgovor 386 62,97 17 22 29 33

11.2 B Netočan odgovor 1 0,16 100 0 0 0

11.2 C Netočan odgovor 89 14,52 38 35 17 10

11.2 D Netočan odgovor 33 5,38 67 27 6 0

11.2 E Netočan odgovor 28 4,57 46 18 21 14

11.2 F Netočan odgovor 75 12,23 25 32 25 17

11.3 - Neodgovoreno 1 0,16 100 0 0 0

11.3 A Netočan odgovor 9 1,47 100 0 0 0

11.3 A;D Neispravan odgovor 1 0,16 0 0 100 0

11.3 C Netočan odgovor 22 3,59 73 23 5 0

11.3 D Točan odgovor 509 83,03 18 24 28 30

11.3 E Netočan odgovor 14 2,28 50 14 36 0

11.3 F Netočan odgovor 57 9,3 54 40 5 0

11.4 - Neodgovoreno 1 0,16 100 0 0 0

11.4 A Netočan odgovor 6 0,98 67 33 0 0

11.4 B Točan odgovor 592 96,57 24 25 25 26

11.4 C Netočan odgovor 3 0,49 33 67 0 0

11.4 D Netočan odgovor 1 0,16 0 100 0 0

11.4 E Netočan odgovor 9 1,47 33 22 33 11

11.4 F Netočan odgovor 1 0,16 100 0 0 0

12.1 A Netočan odgovor 6 0,98 100 0 0 0

12.1 B Točan odgovor 544 88,74 19 26 28 28

12.1 D Netočan odgovor 2 0,33 100 0 0 0

12.1 E Netočan odgovor 52 8,48 69 21 6 4

12.1 F Netočan odgovor 9 1,47 67 22 0 11

12.2 - Neodgovoreno 1 0,16 0 0 0 100

12.2 A Točan odgovor 467 76,18 20 25 26 29

12.2 A;E Neispravan odgovor 1 0,16 0 0 0 100



12.2 B Netočan odgovor 8 1,31 100 0 0 0

12.2 C Netočan odgovor 32 5,22 41 19 31 9

12.2 D Netočan odgovor 33 5,38 42 39 9 9

12.2 E Netočan odgovor 24 3,92 42 21 38 0

12.2 F Netočan odgovor 47 7,67 36 23 23 17

12.3 - Neodgovoreno 1 0,16 0 0 0 100

12.3 A Netočan odgovor 14 2,28 57 21 21 0

12.3 B Netočan odgovor 6 0,98 67 33 0 0

12.3 C Netočan odgovor 1 0,16 0 0 0 100

12.3 D Netočan odgovor 22 3,59 68 18 9 5

12.3 E Točan odgovor 500 81,57 19 26 26 29

12.3 F Netočan odgovor 69 11,26 48 22 26 4

12.4 - Neodgovoreno 1 0,16 0 0 0 100

12.4 A Netočan odgovor 23 3,75 48 35 13 4

12.4 B Netočan odgovor 30 4,89 80 17 0 3

12.4 C Netočan odgovor 90 14,68 23 21 30 26

12.4 D Netočan odgovor 305 49,76 21 28 25 27

12.4 E Netočan odgovor 9 1,47 33 44 11 11

12.4 F Točan odgovor 155 25,29 21 21 30 29

13.1 - Neodgovoreno 1 0,16 0 100 0 0

13.1 A Točan odgovor 423 69 13 24 30 32

13.1 A;F Neispravan odgovor 1 0,16 100 0 0 0

13.1 B Netočan odgovor 9 1,47 67 33 0 0

13.1 C Netočan odgovor 37 6,04 78 16 5 0

13.1 D Netočan odgovor 129 21,04 40 31 17 12

13.1 E Netočan odgovor 12 1,96 83 17 0 0

13.1 F Netočan odgovor 1 0,16 0 0 0 100

13.2 - Neodgovoreno 1 0,16 0 100 0 0

13.2 A Netočan odgovor 1 0,16 0 0 0 100

13.2 C Netočan odgovor 2 0,33 50 0 50 0

13.2 E Netočan odgovor 16 2,61 69 6 13 13

13.2 F Točan odgovor 593 96,74 24 25 25 25

13.3 - Neodgovoreno 3 0,49 67 33 0 0

13.3 A Netočan odgovor 18 2,94 67 28 6 0

13.3 B Netočan odgovor 16 2,61 81 19 0 0

13.3 C Netočan odgovor 61 9,95 52 30 16 2

13.3 D Netočan odgovor 20 3,26 50 40 5 5

13.3 E Točan odgovor 486 79,28 16 24 29 31

13.3 F Netočan odgovor 9 1,47 56 0 22 22

13.4 - Neodgovoreno 2 0,33 0 50 50 0

13.4 A Netočan odgovor 18 2,94 78 22 0 0

13.4 B Netočan odgovor 49 7,99 51 27 16 6

13.4 C Točan odgovor 441 71,94 15 24 28 34

13.4 D Netočan odgovor 97 15,82 47 31 21 1

13.4 E Netočan odgovor 5 0,82 40 20 20 20

13.4 F Netočan odgovor 1 0,16 0 0 100 0

14.1 A Netočan odgovor 3 0,49 33 33 33 0

14.1 D Točan odgovor 544 88,74 26 26 23 25

14.1 E Netočan odgovor 6 0,98 17 17 17 50

14.1 F Netočan odgovor 60 9,79 18 17 40 25

14.2 B Netočan odgovor 1 0,16 100 0 0 0

14.2 C Točan odgovor 602 98,21 25 25 25 25

14.2 C;F Neispravan odgovor 1 0,16 0 100 0 0

14.2 D Netočan odgovor 1 0,16 100 0 0 0

14.2 F Netočan odgovor 8 1,31 25 38 38 0

14.3 B Točan odgovor 389 63,46 18 24 28 30



14.3 C Netočan odgovor 1 0,16 100 0 0 0

14.3 D Netočan odgovor 1 0,16 100 0 0 0

14.3 E Netočan odgovor 68 11,09 28 25 22 25

14.3 F Netočan odgovor 154 25,12 42 28 19 12

14.4 A Točan odgovor 611 99,67 25 25 25 25

14.4 B Netočan odgovor 1 0,16 100 0 0 0

14.4 F Netočan odgovor 1 0,16 100 0 0 0

15.1 A Netočan odgovor 1 0,16 0 0 100 0

15.1 B Netočan odgovor 3 0,49 67 33 0 0

15.1 C;E Neispravan odgovor 1 0,16 0 0 100 0

15.1 D Netočan odgovor 109 17,78 13 21 39 28

15.1 E Točan odgovor 482 78,63 27 26 22 25

15.1 F Netočan odgovor 17 2,77 41 35 12 12

15.2 - Neodgovoreno 2 0,33 0 50 50 0

15.2 A Netočan odgovor 1 0,16 0 100 0 0

15.2 B Netočan odgovor 73 11,91 41 26 15 18

15.2 B;C Neispravan odgovor 1 0,16 0 100 0 0

15.2 C Točan odgovor 528 86,13 23 25 26 26

15.2 D Netočan odgovor 6 0,98 33 17 17 33

15.2 E Netočan odgovor 2 0,33 0 0 50 50

15.3 A Točan odgovor 255 41,6 16 25 22 36

15.3 B Netočan odgovor 120 19,58 24 22 35 19

15.3 C Netočan odgovor 7 1,14 57 14 29 0

15.3 D Netočan odgovor 114 18,6 32 30 20 18

15.3 E Netočan odgovor 7 1,14 43 14 29 14

15.3 F Netočan odgovor 110 17,94 38 24 25 14

15.4 A Netočan odgovor 105 17,13 46 24 22 9

15.4 A;F Neispravan odgovor 1 0,16 0 100 0 0

15.4 B Netočan odgovor 7 1,14 71 29 0 0

15.4 D Netočan odgovor 77 12,56 26 21 30 23

15.4 E Netočan odgovor 15 2,45 33 27 33 7

15.4 F Točan odgovor 408 66,56 19 26 25 31

16.1 0 Netočan odgovor 19 3,1 84 11 5 0

16.1 1 Točan odgovor 587 95,76 23 25 26 26

16.1 NO Netočan odgovor 7 1,14 71 29 0 0

16.2 - Neodgovoreno 40 6,53 98 0 0 3

16.2 A Netočan odgovor 1 0,16 0 100 0 0

16.2 A;B Netočan odgovor 2 0,33 50 0 50 0

16.2 A;C Djelomično točan odgovor 26 4,24 27 27 27 19

16.2 A;D Djelomično točan odgovor 56 9,14 29 38 21 13

16.2 B;C Djelomično točan odgovor 26 4,24 27 35 23 15

16.2 B;D Djelomično točan odgovor 59 9,62 29 25 31 15

16.2 C;D Točan odgovor 398 64,93 17 25 27 32

16.2 D Djelomično točan odgovor 5 0,82 20 40 40 0

16.3 - Neodgovoreno 42 6,85 93 0 2 5

16.3 A Netočan odgovor 61 9,95 26 41 21 11

16.3 A;B Neispravan odgovor 1 0,16 0 100 0 0

16.3 B Netočan odgovor 192 31,32 25 22 29 24

16.3 C Netočan odgovor 177 28,87 20 30 28 23

16.3 D Točan odgovor 140 22,84 11 23 25 41

16.4 - Neodgovoreno 40 6,53 95 0 3 3

16.4 A Netočan odgovor 70 11,42 20 40 23 17

16.4 A;B Neispravan odgovor 1 0,16 100 0 0 0

16.4 B Točan odgovor 310 50,57 11 21 30 38

16.4 B;C Neispravan odgovor 1 0,16 0 100 0 0

16.4 C Netočan odgovor 105 17,13 36 30 23 10



16.4 D Netočan odgovor 86 14,03 33 31 22 14

17.1 0 Netočan odgovor 132 21,53 52 29 14 6

17.1 1 Točan odgovor 476 77,65 18 24 28 30

17.1 NO Netočan odgovor 5 0,82 40 20 40 0

17.2 - Neodgovoreno 40 6,53 98 0 0 3

17.2 A;B Djelomično točan odgovor 17 2,77 59 29 6 6

17.2 A;C Djelomično točan odgovor 19 3,1 47 32 21 0

17.2 B Djelomično točan odgovor 2 0,33 100 0 0 0

17.2 B;C Točan odgovor 515 84,01 15 27 28 29

17.2 B;D Djelomično točan odgovor 10 1,63 80 20 0 0

17.2 C Djelomično točan odgovor 2 0,33 50 0 50 0

17.2 C;D Djelomično točan odgovor 8 1,31 75 0 13 13

17.3 - Neodgovoreno 39 6,36 97 0 0 3

17.3 A Točan odgovor 382 62,32 12 24 29 35

17.3 A;B Neispravan odgovor 1 0,16 0 100 0 0

17.3 B Netočan odgovor 145 23,65 33 33 22 12

17.3 B;C Neispravan odgovor 1 0,16 0 0 100 0

17.3 B;D Neispravan odgovor 1 0,16 0 100 0 0

17.3 C Netočan odgovor 11 1,79 45 18 36 0

17.3 D Netočan odgovor 33 5,38 55 24 15 6

17.4 - Neodgovoreno 40 6,53 98 0 0 3

17.4 A Netočan odgovor 255 41,6 22 33 29 16

17.4 A;B Neispravan odgovor 1 0,16 0 100 0 0

17.4 A;D Neispravan odgovor 1 0,16 0 0 100 0

17.4 B Točan odgovor 176 28,71 7 14 27 52

17.4 C Netočan odgovor 96 15,66 29 31 24 16

17.4 C;D Neispravan odgovor 1 0,16 0 100 0 0

17.4 D Netočan odgovor 43 7,01 44 26 19 12

18.1 0 Netočan odgovor 267 43,56 32 28 25 15

18.1 1 Točan odgovor 331 54 18 21 26 34

18.1 NO Netočan odgovor 15 2,45 53 40 7 0

18.2 - Neodgovoreno 39 6,36 95 0 3 3

18.2 A Netočan odgovor 2 0,33 100 0 0 0

18.2 A;B Netočan odgovor 21 3,43 57 33 5 5

18.2 A;C Djelomično točan odgovor 19 3,1 63 11 5 21

18.2 A;D Djelomično točan odgovor 71 11,58 48 25 18 8

18.2 B Netočan odgovor 2 0,33 50 0 50 0

18.2 B;C Djelomično točan odgovor 69 11,26 14 25 35 26

18.2 B;D Djelomično točan odgovor 99 16,15 20 32 24 23

18.2 C Djelomično točan odgovor 8 1,31 0 50 50 0

18.2 C;D Točan odgovor 282 46 9 26 30 35

18.2 D Djelomično točan odgovor 1 0,16 100 0 0 0

18.3 - Neodgovoreno 40 6,53 95 0 3 3

18.3 A Netočan odgovor 37 6,04 35 32 22 11

18.3 A;C Neispravan odgovor 1 0,16 0 100 0 0

18.3 B Netočan odgovor 21 3,43 48 19 24 10

18.3 B;C Neispravan odgovor 1 0,16 0 100 0 0

18.3 C Točan odgovor 506 82,54 18 26 27 29

18.3 D Netočan odgovor 7 1,14 57 29 14 0

18.4 - Neodgovoreno 39 6,36 97 0 0 3

18.4 A Točan odgovor 381 62,15 16 20 29 34

18.4 A;C Neispravan odgovor 1 0,16 0 100 0 0

18.4 A;D Neispravan odgovor 2 0,33 0 50 50 0

18.4 B Netočan odgovor 18 2,94 50 22 17 11

18.4 C Netočan odgovor 81 13,21 21 40 25 15

18.4 C;D Neispravan odgovor 1 0,16 100 0 0 0



18.4 D Netočan odgovor 90 14,68 31 42 19 8

19.1 0 Netočan odgovor 39 6,36 56 26 8 10

19.1 1 Točan odgovor 569 92,82 23 25 26 26

19.1 NO Netočan odgovor 5 0,82 40 20 40 0

19.2 - Neodgovoreno 39 6,36 97 0 0 3

19.2 A Djelomično točan odgovor 3 0,49 33 67 0 0

19.2 A;B Točan odgovor 204 33,28 6 17 31 47

19.2 A;C Djelomično točan odgovor 222 36,22 30 34 26 10

19.2 A;D Djelomično točan odgovor 26 4,24 27 27 27 19

19.2 B Djelomično točan odgovor 1 0,16 0 0 100 0

19.2 B;C Djelomično točan odgovor 94 15,33 20 31 20 29

19.2 B;D Djelomično točan odgovor 6 0,98 17 33 50 0

19.2 C Netočan odgovor 3 0,49 67 33 0 0

19.2 C;D Netočan odgovor 15 2,45 53 20 13 13

19.3 - Neodgovoreno 39 6,36 97 0 0 3

19.3 A Netočan odgovor 38 6,2 37 42 16 5

19.3 A;B Neispravan odgovor 3 0,49 0 67 33 0

19.3 A;D Neispravan odgovor 1 0,16 0 100 0 0

19.3 B Točan odgovor 505 82,38 18 26 28 29

19.3 C Netočan odgovor 6 0,98 83 0 17 0

19.3 D Netočan odgovor 21 3,43 38 24 24 14

19.4 - Neodgovoreno 39 6,36 97 0 0 3

19.4 A Točan odgovor 275 44,86 15 23 28 33

19.4 A;D Neispravan odgovor 1 0,16 0 100 0 0

19.4 B Netočan odgovor 60 9,79 18 28 25 28

19.4 C Netočan odgovor 187 30,51 27 31 25 17

19.4 D Netočan odgovor 51 8,32 25 25 27 22

20.1 0 Netočan odgovor 70 11,42 40 31 17 11

20.1 1 Točan odgovor 535 87,28 22 24 26 27

20.1 NO Netočan odgovor 8 1,31 75 0 0 25

20.2 - Neodgovoreno 39 6,36 97 0 0 3

20.2 A Netočan odgovor 1 0,16 0 0 0 100

20.2 A;B Djelomično točan odgovor 119 19,41 24 28 33 16

20.2 A;C Djelomično točan odgovor 4 0,65 50 0 50 0

20.2 A;D Netočan odgovor 5 0,82 80 20 0 0

20.2 B Djelomično točan odgovor 7 1,14 29 14 43 14

20.2 B;C Točan odgovor 320 52,2 14 26 24 36

20.2 B;D Djelomično točan odgovor 112 18,27 29 31 27 13

20.2 C Djelomično točan odgovor 1 0,16 0 0 100 0

20.2 C;D Djelomično točan odgovor 5 0,82 60 20 0 20

20.3 - Neodgovoreno 39 6,36 97 0 0 3

20.3 A Netočan odgovor 2 0,33 100 0 0 0

20.3 A;C Neispravan odgovor 1 0,16 0 100 0 0

20.3 B Netočan odgovor 1 0,16 100 0 0 0

20.3 C Točan odgovor 567 92,5 20 27 27 27

20.3 D Netočan odgovor 3 0,49 67 33 0 0

20.4 - Neodgovoreno 40 6,53 98 0 0 3

20.4 A Netočan odgovor 347 56,61 17 27 31 24

20.4 A;B Neispravan odgovor 1 0,16 0 100 0 0

20.4 A;D Neispravan odgovor 1 0,16 0 0 100 0

20.4 B Netočan odgovor 78 12,72 37 21 19 23

20.4 C Točan odgovor 122 19,9 18 28 19 35

20.4 D Netočan odgovor 24 3,92 17 29 29 25

21.1 0 Netočan odgovor 368 60,03 33 30 23 13

21.1 1 Točan odgovor 231 37,68 10 17 28 45

21.1 NO Netočan odgovor 14 2,28 64 14 21 0



21.2 - Neodgovoreno 38 6,2 97 0 0 3

21.2 A;B Djelomično točan odgovor 21 3,43 19 38 14 29

21.2 A;C Djelomično točan odgovor 12 1,96 33 42 25 0

21.2 A;D Netočan odgovor 4 0,65 50 25 0 25

21.2 B Djelomično točan odgovor 6 0,98 33 17 33 17

21.2 B;C Točan odgovor 392 63,95 18 25 26 31

21.2 B;D Djelomično točan odgovor 121 19,74 22 29 32 17

21.2 C;D Djelomično točan odgovor 18 2,94 39 33 17 11

21.2 D Netočan odgovor 1 0,16 100 0 0 0

21.3 - Neodgovoreno 40 6,53 95 3 0 3

21.3 A Netočan odgovor 43 7,01 28 30 33 9

21.3 A;D Neispravan odgovor 1 0,16 0 100 0 0

21.3 B Netočan odgovor 36 5,87 36 36 22 6

21.3 C Netočan odgovor 119 19,41 28 36 28 8

21.3 D Točan odgovor 374 61,01 16 22 26 36

21.4 - Neodgovoreno 40 6,53 95 0 3 3

21.4 A Netočan odgovor 25 4,08 40 28 20 12

21.4 B Netočan odgovor 74 12,07 35 45 15 5

21.4 C Netočan odgovor 259 42,25 22 26 30 22

21.4 C;D Neispravan odgovor 1 0,16 0 100 0 0

21.4 D Točan odgovor 214 34,91 10 21 27 42

22.1 0 Netočan odgovor 180 29,36 37 35 18 10

22.1 1 Točan odgovor 392 63,95 16 21 29 34

22.1 NO Netočan odgovor 41 6,69 66 20 15 0

22.2 - Neodgovoreno 39 6,36 97 0 0 3

22.2 A Djelomično točan odgovor 3 0,49 33 0 67 0

22.2 A;B Djelomično točan odgovor 113 18,43 26 34 25 16

22.2 A;B;C Neispravan odgovor 1 0,16 100 0 0 0

22.2 A;C Točan odgovor 293 47,8 13 22 30 35

22.2 A;D Djelomično točan odgovor 6 0,98 50 17 33 0

22.2 B Netočan odgovor 3 0,49 33 67 0 0

22.2 B;C Djelomično točan odgovor 133 21,7 21 35 22 22

22.2 B;D Netočan odgovor 16 2,61 75 0 13 13

22.2 C Djelomično točan odgovor 1 0,16 100 0 0 0

22.2 C;D Djelomično točan odgovor 5 0,82 20 20 40 20

22.3 - Neodgovoreno 41 6,69 98 0 0 2

22.3 A Netočan odgovor 30 4,89 30 37 20 13

22.3 A;D Neispravan odgovor 1 0,16 0 100 0 0

22.3 B Točan odgovor 211 34,42 21 27 28 25

22.3 C Netočan odgovor 245 39,97 13 24 28 35

22.3 D Netočan odgovor 85 13,87 35 31 22 12

22.4 - Neodgovoreno 40 6,53 98 0 0 3

22.4 A Netočan odgovor 53 8,65 21 36 34 9

22.4 B Netočan odgovor 97 15,82 21 26 37 16

22.4 B;C Neispravan odgovor 1 0,16 0 100 0 0

22.4 C Točan odgovor 231 37,68 16 23 27 34

22.4 D Netočan odgovor 191 31,16 24 29 19 27

23.1 0 Netočan odgovor 141 23 26 28 25 21

23.1 1 Točan odgovor 444 72,43 24 23 26 27

23.1 NO Netočan odgovor 28 4,57 36 46 11 7

23.2 - Neodgovoreno 39 6,36 97 0 0 3

23.2 A;B Netočan odgovor 36 5,87 28 42 17 14

23.2 A;C Djelomično točan odgovor 101 16,48 34 27 22 18

23.2 A;D Djelomično točan odgovor 53 8,65 28 15 34 23

23.2 B Netočan odgovor 1 0,16 100 0 0 0

23.2 B;C Djelomično točan odgovor 116 18,92 20 36 25 19



23.2 B;D Djelomično točan odgovor 71 11,58 21 28 34 17

23.2 C Djelomično točan odgovor 5 0,82 20 40 20 20

23.2 C;D Točan odgovor 189 30,83 9 20 28 43

23.2 D Djelomično točan odgovor 2 0,33 0 50 50 0

23.3 - Neodgovoreno 39 6,36 97 0 0 3

23.3 A Netočan odgovor 5 0,82 0 60 20 20

23.3 B Netočan odgovor 276 45,02 25 28 26 21

23.3 B;C Neispravan odgovor 1 0,16 0 100 0 0

23.3 C Točan odgovor 226 36,87 13 21 29 36

23.3 D Netočan odgovor 66 10,77 26 38 21 15

23.4 - Neodgovoreno 40 6,53 98 0 0 3

23.4 A Netočan odgovor 45 7,34 22 47 16 16

23.4 A;B Neispravan odgovor 1 0,16 0 100 0 0

23.4 B Točan odgovor 406 66,23 16 23 30 32

23.4 C Netočan odgovor 55 8,97 38 40 18 4

23.4 D Netočan odgovor 66 10,77 32 26 24 18

24.1 0 Netočan odgovor 262 42,74 26 29 25 19

24.1 1 Točan odgovor 310 50,57 20 23 25 33

24.1 NO Netočan odgovor 41 6,69 61 15 22 2

24.2 - Neodgovoreno 39 6,36 97 0 0 3

24.2 A Djelomično točan odgovor 7 1,14 57 14 14 14

24.2 A;B Točan odgovor 252 41,11 13 23 24 40

24.2 A;C Djelomično točan odgovor 102 16,64 25 33 30 11

24.2 A;D Djelomično točan odgovor 200 32,63 23 29 30 20

24.2 B Djelomično točan odgovor 1 0,16 0 100 0 0

24.2 B;C Djelomično točan odgovor 2 0,33 0 100 0 0

24.2 B;D Djelomično točan odgovor 4 0,65 75 0 25 0

24.2 C;D Netočan odgovor 6 0,98 67 17 17 0

24.3 - Neodgovoreno 40 6,53 98 0 0 3

24.3 A Netočan odgovor 104 16,97 24 30 25 21

24.3 B Točan odgovor 345 56,28 13 24 30 34

24.3 B;C Neispravan odgovor 1 0,16 0 0 100 0

24.3 B;D Neispravan odgovor 1 0,16 0 100 0 0

24.3 C Netočan odgovor 55 8,97 22 31 29 18

24.3 C;D Neispravan odgovor 1 0,16 0 0 100 0

24.3 D Netočan odgovor 66 10,77 52 33 11 5

24.4 - Neodgovoreno 41 6,69 95 0 2 2

24.4 A Netočan odgovor 18 2,94 17 28 33 22

24.4 B Netočan odgovor 69 11,26 28 28 19 26

24.4 B;C Neispravan odgovor 1 0,16 0 100 0 0

24.4 C Točan odgovor 337 54,98 14 24 28 34

24.4 D Netočan odgovor 147 23,98 31 32 26 12

25.1 0 Netočan odgovor 317 51,71 30 28 28 14

25.1 1 Točan odgovor 202 32,95 11 13 25 50

25.1 NO Netočan odgovor 94 15,33 39 38 15 7

25.2 - Neodgovoreno 40 6,53 95 0 3 3

25.2 A Djelomično točan odgovor 6 0,98 83 0 17 0

25.2 A;B Točan odgovor 553 90,21 18 27 27 27

25.2 A;C Djelomično točan odgovor 3 0,49 100 0 0 0

25.2 A;D Djelomično točan odgovor 3 0,49 100 0 0 0

25.2 B Djelomično točan odgovor 2 0,33 50 0 50 0

25.2 B;C Djelomično točan odgovor 1 0,16 0 100 0 0

25.2 B;D Djelomično točan odgovor 4 0,65 25 50 25 0

25.2 C;D Netočan odgovor 1 0,16 100 0 0 0

25.3 - Neodgovoreno 40 6,53 95 0 3 3

25.3 A Netočan odgovor 84 13,7 25 38 20 17



25.3 A;C Neispravan odgovor 3 0,49 33 33 0 33

25.3 B Točan odgovor 372 60,69 15 23 29 33

25.3 B;C Neispravan odgovor 3 0,49 0 0 33 67

25.3 B;D Neispravan odgovor 3 0,49 0 33 67 0

25.3 C Netočan odgovor 75 12,23 32 27 28 13

25.3 D Netočan odgovor 33 5,38 48 36 12 3

25.4 - Neodgovoreno 39 6,36 97 0 0 3

25.4 A Netočan odgovor 67 10,93 40 34 19 6

25.4 A;C Neispravan odgovor 1 0,16 0 100 0 0

25.4 B Netočan odgovor 23 3,75 61 26 9 4

25.4 C Točan odgovor 385 62,81 9 24 31 37

25.4 D Netočan odgovor 98 15,99 43 33 19 5

1.1 - Neodgovoreno 5 0,82 100 0 0 0

1.1 0 Netočan odgovor 112 18,27 57 29 11 3

1.1 1 Točan odgovor 495 80,75 17 24 28 30

1.1 NO Netočan odgovor 1 0,16 0 100 0 0

1.2 - Neodgovoreno 5 0,82 100 0 0 0

1.2 0 Netočan odgovor 483 78,79 29 27 27 17

1.2 1 Točan odgovor 125 20,39 6 20 18 56

1.3 - Neodgovoreno 5 0,82 100 0 0 0

1.3 0 Netočan odgovor 80 13,05 59 30 4 8

1.3 1 Točan odgovor 528 86,13 19 24 28 28

1.4 - Neodgovoreno 5 0,82 100 0 0 0

1.4 0 Netočan odgovor 220 35,89 47 28 16 9

1.4 1 Točan odgovor 386 62,97 12 23 30 35

1.4 NO Netočan odgovor 2 0,33 0 50 50 0

1.5 - Neodgovoreno 5 0,82 100 0 0 0

1.5 0 Netočan odgovor 83 13,54 48 27 18 7

1.5 1 Točan odgovor 525 85,64 21 25 26 28

2.1 - Neodgovoreno 5 0,82 100 0 0 0

2.1 0 Netočan odgovor 178 29,04 43 33 16 8

2.1 1 Točan odgovor 406 66,23 12 23 31 34

2.1 NO Netočan odgovor 24 3,92 96 4 0 0

2.2 - Neodgovoreno 5 0,82 100 0 0 0

2.2 0 Netočan odgovor 31 5,06 42 42 10 6

2.2 1 Točan odgovor 553 90,21 20 25 27 27

2.2 NO Netočan odgovor 24 3,92 96 4 0 0

2.3 - Neodgovoreno 5 0,82 100 0 0 0

2.3 0 Netočan odgovor 313 51,06 26 30 26 18

2.3 1 Točan odgovor 271 44,21 16 21 27 36

2.3 NO Netočan odgovor 24 3,92 96 4 0 0

2.4 - Neodgovoreno 5 0,82 100 0 0 0

2.4 0 Netočan odgovor 447 72,92 26 30 26 19

2.4 1 Točan odgovor 134 21,86 7 15 27 51

2.4 NO Netočan odgovor 27 4,4 93 4 0 4

2.5 - Neodgovoreno 5 0,82 100 0 0 0

2.5 0 Netočan odgovor 215 35,07 31 33 20 17

2.5 1 Točan odgovor 368 60,03 16 22 30 32

2.5 NO Netočan odgovor 25 4,08 96 4 0 0

3.1 - Neodgovoreno 5 0,82 100 0 0 0

3.1 0 Netočan odgovor 384 62,64 26 29 29 16

3.1 1 Točan odgovor 199 32,46 13 21 21 46

3.1 NO Netočan odgovor 25 4,08 96 4 0 0

3.2 - Neodgovoreno 5 0,82 100 0 0 0

3.2 0 Netočan odgovor 192 31,32 34 31 18 17

3.2 1 Točan odgovor 390 63,62 15 24 30 31



3.2 NO Netočan odgovor 26 4,24 96 4 0 0

3.3 - Neodgovoreno 5 0,82 100 0 0 0

3.3 0 Netočan odgovor 264 43,07 29 33 23 14

3.3 1 Točan odgovor 319 52,04 15 20 29 36

3.3 NO Netočan odgovor 25 4,08 96 4 0 0

3.4 - Neodgovoreno 5 0,82 100 0 0 0

3.4 0 Netočan odgovor 127 20,72 37 35 17 11

3.4 1 Točan odgovor 454 74,06 17 24 29 31

3.4 NO Netočan odgovor 27 4,4 93 4 4 0

3.5 - Neodgovoreno 5 0,82 100 0 0 0

3.5 0 Netočan odgovor 50 8,16 44 36 14 6

3.5 1 Točan odgovor 532 86,79 19 25 27 28

3.5 NO Netočan odgovor 26 4,24 92 4 0 4

4.1 - Neodgovoreno 5 0,82 100 0 0 0

4.1 0 Netočan odgovor 199 32,46 34 37 17 13

4.1 1 Točan odgovor 381 62,15 14 21 31 34

4.1 NO Netočan odgovor 28 4,57 96 4 0 0

4.2 - Neodgovoreno 5 0,82 100 0 0 0

4.2 0 Netočan odgovor 506 82,54 23 28 28 20

4.2 1 Točan odgovor 68 11,09 9 7 13 71

4.2 NO Netočan odgovor 34 5,55 79 12 3 6

4.3 - Neodgovoreno 5 0,82 100 0 0 0

4.3 0 Netočan odgovor 487 79,45 24 29 28 19

4.3 1 Točan odgovor 88 14,36 7 10 18 65

4.3 NO Netočan odgovor 33 5,38 82 9 3 6

4.4 - Neodgovoreno 5 0,82 100 0 0 0

4.4 0 Netočan odgovor 435 70,96 24 29 26 21

4.4 1 Točan odgovor 145 23,65 13 17 27 43

4.4 NO Netočan odgovor 28 4,57 93 4 4 0

4.5 - Neodgovoreno 5 0,82 100 0 0 0

4.5 0 Netočan odgovor 131 21,37 40 35 15 10

4.5 1 Točan odgovor 451 73,57 16 24 30 31

4.5 NO Netočan odgovor 26 4,24 96 4 0 0


